
No planned changes. 2024-10-23
2024-04-24

New document. 
Pre-series draft. 

A
-

     Indicates instruction. 
 
        Represents Hose. 
 
Dashed lines for overview, mounts 
on other pages/assemblies.

Readers note:

Planned document changes:
Breifly:

Document changes:
Date: Change:

Rev. 
after change:

COVERSHEET
Drawing No: 1078091 EC204B - Central lubricationA

                            ®engcon

1 /3 



                            ®engconEC204B - Central lubricationA1078091Drawing No:

2 /3 

POS
in order of assembly

Photos on page 3.

COMMENTSQTYPARTDESCRIPTIONPOS
(POS.2-7, 14 incl.)11079207Lubrication kit EC204B Complete1
 6790184Adapter 90° Push-in - swivel2
 2712216Extender straight 1/8"3
 6710199Adapter 90° R1/8"4
 6790172Push-in koppl EC209 R1/8"5
 2712215Adapter 45° R1/8"6
(POS.8-13 incl.)11079117Dosing block MX-F 3/6 EC204B7
 27002009Extender M10x1-M10x1 21mm8
 57002005Push-in Swivel 90° M10x19
 1790190Adapter 90° M10x110
 17002011Push-in straight M10x111
 17002008T-adapter M10x112
 17002013Plug 6mm central lubrication13
 17000784Hose central lubrication bulk14
Part of rotator frame2610403Screw MC6S M5x30 12.915

15

8

9

9

10
11

13

7

56542

4 3 2

1

12

14

A1

A2

A3
B1

B2

B3


